Вариант 1

Напишите, что печатает следующая программа.

Program P1;

Var a,b,c, d: integer;

Function func (x,y,z;integer):integer;

     Var W: integer;

     Begin

           W:=x+y+z;

            If y<z+1 then W:=W+1:
            Func:=W;

     End;

Begin

  A:=5;

  B:=4:

  C:=2:

  D:= func (a, b, c);

Writeln ('func от ',A, ' , ',B,'и', С,'даст результат',D);

A:=func(b,c,d);

Writeln ('func от ',B, ' , ',C,'и', D,'даст результат',D);

End.


Вариант 2

Напишите, что печатает следующая программа.
Program P2;

Var d,e,f,g,h,i,j,k:integer;

Funcion Sub1(x,y:integer):integer;

  Var x,y:integer;

   Begin

     If x+y=3 then Sub1:=3  else Sub1:=y-x;

   End;

Funcion Sub2(p,q:integer):integer;

   Var R,S:integer;

    Begin

     R:=Sub1(p,q);

     S:=Sub1(q,p);

     Sub2:=R+S;

   End;

Begin

 g:=4; h:=7; i:=9; j:=5; k:=2; d:=1; e:=3;

 f:=Sub1(g,h);

 f:=Sub2(i,j);

 f:=sub1(g,k);

writeln(g,' ',h,' ',i,' ',j,' ',k,' ',d,' ',e,' ',f);

end.
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Function func (x,y,z;integer):integer;

     Var W: integer;

     Begin

           W:=x+y+z;

            If y<z+1 then W:=W+1:

            Func:=W;

     End;

Begin

  A:=5;

  B:=4:

  C:=2:

  D:= func (a, b, c);

Writeln ('func от ',A, ' , ',B,'и', С,'даст результат',D);

A:=func(b,c,d);

Writeln ('func от ',B, ' , ',C,'и', D,'даст результат',D);

End.


Вариант 2

Напишите, что печатает следующая программа.
Program P2;

Var d,e,f,g,h,i,j,k:integer;

Funcion Sub1(x,y:integer):integer;

  Var x,y:integer;

   Begin

     If x+y=3 then Sub1:=3  else Sub1:=y-x;

   End;
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   Var R,S:integer;

    Begin

     R:=Sub1(p,q);

     S:=Sub1(q,p);
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Begin

 g:=4; h:=7; i:=9; j:=5; k:=2; d:=1; e:=3;

 f:=Sub1(g,h);

 f:=Sub2(i,j);

 f:=sub1(g,k);

writeln(g,' ',h,' ',i,' ',j,' ',k,' ',d,' ',e,' ',f);
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